Topic 26: Identify and use properties of logarithmic expressions and logarithmic functions

1. Which is equivalent to In[(x+1) eX] ?
(a) Inxe"+In¢e" (b) Inx+In(1)+Ine
(c) In(x+1)+x (d) xIn(x+1)e

2. Write the expression In(x+ 5) = Yin exponential form.
3. Find the domain of f (X) = In(x— 2).

4. Use the properties of logarithms to simplify the expression [N xe" .
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5. Write the equivalent logarithmic expression for fl.O_3 =—.
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6. Which of the following is false?
(a) Inx=Inx-In1 (b) Ine=1

(c) In(x+1)=Inx+In1 (d) Inx=Inx+In1
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